Oo0oboooolAoobgooboog
gogbbobuogobbboooobbbuooobobobobobooon
gbogoboooo

gbbodboogoboobobuoobobobooboobobobobboboo
gbogobuogbboobuooboboobobuooobbooboobbo
gobooog

gdddooooooooboooooooooooobobbobobobooon
gobbbuoooobbbooobobbboooooboobooo

gbbogobuogbboobuogboboobuoobbobooobboobobo
gobbbooogbbbuoooobbbuooobon

gbbogobuodgboboobbodoboobbuoobbbobboobbo
gbogobuodgbooobbuogbbbuoobuoobboobuoobobon
gbobuodgboboobuoobbouoobbuodoboooboobbooon
gbbgobuogbobuogooouoobbuobuogbooobuoobobod
gobbobuoooobbobogo



Ood

000000oooooooood

oo o0

1 n = 1
(I)Zn(n~l—1) (2);n2+3n—|—2 (3);%

n=1

[ﬂDDf@wDDDDDDDDDDDDij//f@@W@DDDDDDD
D

000«000000000
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// Arctangdmdy, D={(z,y) eER* | x>0, y>0, 2° +y* < 1}
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